FI R (BE105:B%)

= A
[#BI1&BEZE15FADIEE]
HENFTHRAEE
(BA7 M)
I ATIEH 4 HA XHIEH 4 HA
H Rk
£ 4 <] -
AR 606,0001 (1 =/ rijikt) 400,000
Hh o XA B 4 150,000 EMEE 100,000
JE R i By 100,000
/A
WSS ML LA V|
L BebL L 2L 2 100,000
Fm. IhLORE D
DN DN D REINEDF L R 56,000
FEEURE 230, - N
SRR LT AL SP——
HBIALTS
HBonEdi,
G
NN 756,000 AR 756,000

MNFRN I DTEINE DG LEZ IR L TTZE VY,



FI R (BE105:B%)

& A B
[#EBIE AN 15 FARBEDIHS]
HENZTHREE
BEEEANSHR NV
RAEHSESIC ] AT
N~ {f %A X HTEH Zo |
N H R
N
ENEREiE 137,024) e = 1 pen) 200,000
- X A B 4 136,000| SEMEE 11,500
_Z
{ N T 23.800
[ xwastx1 2
i U
L (TRABIET) J ekt 28 17,500
HE R 20,224
BT S
HHE AL TS
W ER A,
g
IXAAF 273,024 XA E 273,024

MNFRN I DTEINE DG LEZ IR L TTZE VY,




